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Introduction


The IELTS is the world’s most popular test with over 1.5 million people taking the test each year. It is intended for people who wish to study or work in an English-speaking country. You have the choice of two modules. The Academic module is for university degree course applicants. The General Training module is for people intending to migrate. This book contains four complete practice tests for the Academic module of the International English Testing Language System (IELTS) with additional tests for the General Training module. The tests provide IELTS candidates with plenty of realistic practice because they are similar in style and content to the University of Cambridge ESOL examinations.


Frequently Asked Questions (FAQs)


1. Where can I sit the IELTS?


You can sit the test in more than 130 countries at 800 test centres. Please visit the IELTS website at www.ielts.org to find a test centre near to you.


2. When can I sit the IELTS?

Tests are available every month of the year on fixed dates. There are 48 test dates for the Academic module and 24 test dates for the General module, but this does not mean that every centre offers a test on every date. The listening, reading and writing tests are taken on the same day. The speaking test may be on the same day as the other three tests or it can be up to seven days before or seven days after.


3. How do I register for the IELTS?


To register for the test you need to download a copy of the IELTS application form (PDF file) or ask your test centre for a copy. You need to return:


•a completed and signed application form;

•your fee for the test (payment by credit/debit card is widely accepted; some centres accept online payments and some accept a cheque/postal order);

•a photocopy of your passport (or a photocopy of an EU National ID card);

•two identical, colour, passport-size photos that are less than six months old, and without glasses being worn.


4. How much does it cost to sit the IELTS?


The fee for the IELTS varies from one country to another. As a guide, the fee for the tests (both Academic and General) was £115 in the UK in 2011. Some countries accept online applications and payments.


5. What do I need to take to the exam?

You must take the following:


•a valid passport (or an EU National ID card), not a photocopy;

•at least two pens, two pencils, an eraser and a pencil sharpener (but no pencil case);

•water to drink, in a transparent bottle.


If you sit the speaking test separately – for example, the following week – you must take your ID again. You must not take your mobile phone into the examination room.


6. When are my results available?


Normally online 13 days after your test date. The official Test Report Form will also be mailed to your address after this time.

7. How many times can I sit the test?

You can sit the test again as many times as you like and as soon as you like, but you have to sit all four sections of the test. You cannot retake just one module again, for example the speaking test.

8. How long is the result valid for?

Your IELTS score is valid for two years. You may have to sit the test again if your test result is more than two years old.

9. What band score do I need?

The IELTS is scored from 0 to 9. You need to check with your university or institution what band score they need. University degree course applicants should aim for a band score of 7.0 or higher. The band score for people who wish to work and live in another country is usually 5.0 or higher.

10. What is the test format?

The test is split into four sections that cover the four key English skills of listening, reading, writing and speaking. The breakdown of the questions within each of the four sections is as follows:


•Listening Section (Academic and General modules) 40 questions

–Four listening sections: 1, 2, 3 and 4, with 10 questions per section

–Time allowed: 30 minutes.

•Reading Section (Academic module) 40 questions

–Three reading passages: 1, 2 and 3, with 40 questions in total (eg 13, 13, 14)

–Time allowed: 60 minutes.

•Writing Section (Academic module) 2 tasks

–Task 1 (at least 150 words); eg describe the information in a graph or chart

–Task 2 (at least 250 words); eg argumentative topic; reasons for and against

–Time allowed: 60 minutes (eg 20 minutes on Task 1 and 40 minutes on Task 2).

•Reading Section (General Training module) 40 questions

–Section 1: Two short texts of factual information; eg English in a social setting

–Section 2: Two short texts of factual information; eg English in a work context

–Section 3: One longer passage of text of general interest

–Time allowed: 60 minutes.

•Writing Section (General Training module) 2 tasks

–Task 1 (at least 150 words); eg write a letter on the chosen topic

–Task 2 (at least 250 words); eg argumentative topic; reasons for and against

–Time allowed: 60 minutes (eg 20 minutes on Task 1 and 40 minutes on Task 2).

•Speaking Section (Academic and General modules) 3 parts

–Part 1: Familiar topics; Part 2: Brief talk; Part 3: Discussion

–Time allowed: 11 to 14 minutes.


Book format


The questions in this book are numbered from 1 to 400 to make every answer easy to find. The main Answer section is found at the end of the book before the Appendices. There are two appendices: Appendix 1 is the Reading section vocabulary; Appendix 2 lists British and American spellings. The IELTS practice tests in this book are set out as follows:


Test 1: Questions 1 to 80; Test 2: Questions 81 to 160; Test 3: Questions 161 to 240; Test 4: Questions 241 to 320

General Training Reading and Writing Test A: Questions 321 to 360

General Training Reading and Writing Test B: Questions 361 to 400


Listening Test instructions


MP3 files for these tests can be downloaded for free at www.koganpage.com/editions/how-to-master-the-ielts/9780749456368


The IELTS practice tests in this book start with the Listening Test as does the actual test. Your CD player or computer must be able to play MP3 files. There are 16 separate recordings – four for each practice test. Section 1 is conversation between two people. Section 2 is a talk given by one person (monologue). Section 3 is a conversation between two or more people and Section 4 is another monologue. If you want to know more about what to expect then turn to the audio-scripts at the end of the book. Note that the answers to the listening tests have been underlined in the audio-scripts.


You will be allowed approximately 30 seconds to study the questions before the test begins. Use this time to check what types of answers are needed (for example, dates, times, names, money, etc), and pay special attention to the first question. Several sentences of dialogue may take place before you hear the words needed to answer the first question. If you miss the start point and fail to answer the first question you will not be ready to answer the second question. You will hear the recording only once, so if you think you have missed an answer you must move on to the next question. If you look at the audio-scripts you will see that each script is split into two parts separated by a dashed line; there is a 30-second gap at this point (first three scripts). Use these 30 seconds to read the next 10 questions. You will be given a piece of paper on which to write your answers. At the end of the listening module you will have 10 minutes to transfer your answers to the answer sheet. Finally, be aware that the Listening Test tests three skills of English language. You need to listen to the dialogue, read the questions and write the answers. Marks are needlessly lost when the candidate fails to read the instructions, or transfers them incorrectly to the answer sheet.


Example: write NO MORE THAN ONE WORD OR ONE NUMBER for each answer.


Question: How many weeks must be spent in the Halls of Residence?

Answer: 40 weeks xAnswer: 40 [image: ]


Example: write NO MORE THAN ONE WORD AND/OR A NUMBER for each answer.


Question: How many weeks must be spent in the Halls of Residence?

Answer: more than 40 xAnswer: 40 weeks [image: ]Answer: 40 [image: ]


Target: aim for at least 30 correct answers out of 40 questions in these practice tests.


Reading Test instructions


You have one hour to complete 40 questions on three passages of text, or 20 minutes per test. Do not waste time reading the passage from beginning to end before looking at the questions. The reading test is a test of word recognition rather than a test of understanding. To answer many of the questions you need to look for a word or a string of words that have a similar meaning to those of the question. The word/words for your answer will match with/map to statements made in the passage. This means that you need to study the first question carefully, then read the passage of text, starting at the beginning. You can expect to arrive at the answer within a few sentences. The answer to the second question will come later in the passage and the answer to the third question will usually come later still, and so on. Example:


Statement: Changes in the earth’s magnetic compass can lead to mistakes in …


Passage: The stranding of whales in shallow water and on beaches is not well understood but it can occur for entirely natural reasons. One explanation involves the ability of whales, like many animals, to use the earth’s magnetic field for direction finding. Ocean currents are thought to cause fluctuations in the earth’s magnetic field which may leave whales vulnerable to navigation errors when they migrate to their breeding ground.


Method: the word mistakes in the statement means the same as the word errors in the passage, so the answer is probably navigation; mistakes in navigation matches with navigation errors. Now check the rest of the sentence to confirm the match: changes are the same as fluctuations and the earth’s magnetic compass is the same as the earth’s magnetic field, so the answer must be correct. Answer: navigation. An alternative word for navigation is ‘direction’, that is to say mistakes in direction, but this is wrong because the word ‘direction’ does not appear in the passage of text.


Target: aim for at least 30 correct answers out of 40 questions in these practice tests.


Writing Test instructions


If the question involves a graph or a chart (Task 1) make sure that you understand what the two axes show. Do not panic and become confused. Start by writing about one element of the chart (eg one line or one bar), choosing the largest first or the one with the largest change. Now move on to describe another element and make a comparison with the first element where there is an obvious difference. Continue like this with the remaining pieces of information. The timeline is always the bottom axis (x-axis) and the size is always the vertical axis (y-axis). The time reads from left to right and the size increases from bottom to top. To prepare for a question about a pie chart, make sure that you can describe the size of the portions in terms of simple fractions and percentages, for example: a half (50%), a third (33%), a quarter (25%), two thirds (67%), three quarters (75%). You can also make statements like ‘just less than a half’, or ‘slightly more than a quarter’, etc. If you have to describe a process, for example ‘the natural water cycle’, make sure that you identify the best point in the diagram to start your description; for example: Water leaves the surface of the earth by a process of evaporation. Now work logically to the next point in the process.

When writing about a topic (Task 2), read the question carefully. If the question asks you to ‘discuss both views’ then you need a balanced argument, so make a list of ideas for and against the issue, and then give your opinion (I believe; I think). Note that Task 2 counts for twice the marks of Task 1 so spend twice the amount of time on it. It is important to write at least 150 words for Task 1 and 250 words for Task 2. Make sure that you know roughly how much space this takes up with your handwriting, otherwise you will waste time having to count your words.


Speaking Test instructions

You can practise for Part 1 by recording some information about yourself on a dictaphone, stating your name, where you live, what work you do and what hobbies and interests you have. You can also talk about your family and friends. Part 1 lasts between four and five minutes. For Part 2 you will be given a task card containing a general topic of interest and what you need to cover. You can make your own task cards from the Speaking Test questions in this book. Practise by recording your voice on a dictaphone and playing it back to check that it lasts between one and two minutes. Listen for pauses and hesitation, and check your pronunciation, grammar and vocabulary. In Part 3, the examiner will engage you in a conversation lasting between four and five minutes. Remember that you are not being assessed on your knowledge of the topic, only on your speech.


Ten top tips for IELTS


Listening section


1Use the reading time to familiarize yourself with the types of answers expected; for example, a number, letter, word or time.

2Pay special attention to the first question, so that you know when to begin.

3If the question asks for answers with one word only, be careful not to add any extra word or letter by mistake. Pay special attention when choosing between similar numbers or clock times.

4Copy your answers to the answer sheet exactly as you have written them. Make sure that your answers are written alongside the correct question numbers.


Reading section


5You have 1 hour to complete 3 passages, so try to keep to 20 minutes per text.

6Read the first question and then search for the sentence that contains the answer; it is often near the beginning of the passage.


Writing section


7Write at least 150 words for Section 1 and at least 250 words for Section 2.

8Spend about 20 minutes on Section 1 and 40 minutes on Section 2.

Speaking section

9Practise speaking for 1 to 2 minutes on topics that are familiar to you.

10Keep practising until you sound fluent.








TEST 1


Listening (1)


Section 1


Questions 1 to 5


Complete the notes below.

Write NO MORE THAN ONE WORD AND/OR A NUMBER for each answer.


[image: ]


Student accommodation

Options:


•Halls of Residence


–£60 per week

–self-catering

–minimum stay 1 ..............................................................................


•Student flats


–owned by private landlords

–at least £75 per week

–need a reference and a 2 .....................................................................


•Homestay


–owned by private landlords

–minimum stay 3 ..............................................................................

–includes 4      ................................. and 5 .......................................


Monday to Friday.

[image: ]


Questions 6 to 10

Complete the form below.

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer.


[image: ]


Homestay provision



	
		
				Name:

				Mike 6 ...........................................................................

		

		
				Address:

				108 Archer Park, Middleton, Manchester


		

		
				Postcode:

				7...........................................................................


		

		
				Tel.number:

				8.....................................................................


		

		
		
				Smoker: No

				Cats:YesDogs:No


		

	



Special diet: Yes

(If Yes, please specify 9 .............................................................................. )

Number of suitable providers identified: 10 .........................................................

Details forwarded: Yes


[image: ]


Section 2


Questions 11 to 20

Look at the diagram and complete the list below it.

Write NO MORE THAN THREE WORDS AND/OR A NUMBER for each answer.

Campus plan for the Open Day


[image: M02NF001.eps]


11................................................ Centre ................................................

12................................................ Hall ...................................................

13................................................ Room ................................................

14................................................ Services .............................................

15...........................................................................


16...........................................................................

17...........................................................................

18................................................ Hall ...................................................

19................................................ Hall ...................................................

20................................................ Road ................................................



Section 3


Questions 21 to 25


Choose the correct letter, A, B or C.


Numeracy week




21According to the professor, the purpose of numeracy week is

Ato draw attention to the advantages of better numeracy.

Bto encourage young people to study more mathematics.

Cto stress the importance of numerical skills.

22According to the professor, there is a link between

Aentering higher education and a better paid job.

Bretraining and getting ahead in life.

Chelp with homework and doing well in school.

23According to the professor, many people

Alack ability with words and numbers.

Bare better at mathematics than they believe they are.

Chave a very basic level of numeracy.

24According to the professor, modern numeracy classes

Aare mostly about basic arithmetic skills.

Bcover maths for the workplace.

Cconcentrate on money matters.

25The interviewer wonders if people return to education

Ato prove themselves academically.

Bto build confidence and self-esteem.

Cto make up for failing at school.


Questions 26 to 30


Which skills does the professor say are important for learners?

Choose THREE letters from the list A to G.


Acalculator skills

Btimes tables

Cequations

Dmental calculations

Edecimal numbers

Falgebra

Gmeasuring.


Questions 29 to 30


Complete the sentences below.

Write ONE WORD ONLY for each answer.


29Some people find it difficult to read gauges on ..........................................

30Many employers use numeracy tests to eliminate the worst ........................



Section 4


Complete the notes below.

Questions 31 to 40

Write ONE WORD OR ONE NUMBER ONLY for each answer.


[image: ]


Tropical storms


Different names

Some names are used in place of each other, which can create 31 .................................


Tornado formation

Tornadoes form within thick 32 .................................... when warm air meets cold air.

Tornadoes become less frequent towards the 33 ................................. coast of America.

Cyclone formation 

Cyclones form over oceans warmer than 34 .................................... degrees centigrade.

Cyclones rotate in the same direction as the 35 ......................................................

Hurricanes and typhoons

A hurricane in America is called a typhoon in 36 ...................................................


[image: ]


Questions 37 to 40


Write NO MORE THAN THREE WORDS OR A NUMBER for each answer.


[image: ]


Naming hurricanes


A hurricane is a tropical storm with a wind speed above 37 ................................. km/h

Before 1940, hurricanes were referred to by their 38 ................................................

After 1979, 39 ......................................................... names were chosen in turn.

Names can be reused after 40 .................................................................. years.

[image: ]


Reading (1)


Reading Passage 1


Shedding light on it


There are three main types of light bulb for lighting a room: incandescent, fluorescent and, more recently, the light emitting diode (LED) bulb. All three bulbs have their advantages and disadvantages when it comes to purchase price, running costs and environmental impact.

The traditional incandescent bulb has been in use for more than 100 years. It is made by suspending a fine coil of tungsten wire between two electrodes. When a current flows through the wire it reaches a temperature of more than 2,000°C and glows white hot. The bulb is filled with argon, an inert gas, to prevent the wire from evaporating. Traditional light bulbs are not very efficient, converting less than 10% of the energy into light with the rest as heat, making them too hot to handle. Most household light bulbs are rated at 40, 60 or 100 Watts.

Mass production of fluorescent lights began in the 1940s. The standard size is 1.2 m in length and 2.5 cm in diameter. The tube contains a small amount of mercury and the inside surface of the glass has a phosphor coating. There are two electrodes, one at each end of the tube, but there is no wire in between. Instead, mercury atoms absorb the electrical energy and emit ultraviolet (UV); this light is invisible until it hits the phosphor coating on the glass, which emits a visible white light. Fluorescent lights are about five times more efficient than incandescent light bulbs. A 20 Watt fluorescent tube will produce a similar amount of light to a 100 Watt bulb and runs much cooler, which helps to give it 10 times the life expectancy of a bulb.

The bright light produced by standard fluorescent lights makes them an ideal choice for offices and factories, rather than homes, where the incandescent bulb has traditionally reigned supreme. However, the newer compact fluorescent lamps (CFLs) look likely to make the old bulbs extinct. Global warming is the main reason. Compared with an incandescent bulb, a single energy-saving fluorescent lamp will save about one tonne of carbon-dioxide emissions over its lifetime, as well as reduce the consumer’s electricity costs.

Not everybody likes the new CFLs, which have the following disadvantages: they are ten times the price of the traditional bulbs; flickering can occur with dimmer switches; they need to warm up to give full brightness; and they emit a bluish, less natural light that can strain the eye. Traditional bulbs are safer to dispose of because they are free from mercury, which is a neurotoxin. The mercury is safe inside a sealed CFL but it is released into the atmosphere if the bulb is broken. Mercury can accumulate in the body to attack the brain and central nervous system.

The reduced carbon footprint of CFLs in comparison with traditional bulbs may have been overstated. Whilst it is true that traditional bulbs convert 90% of the electricity into heat instead of light, this heat is not wasted. The bulb helps to keep the house warm so less fuel is burnt; for example, less gas or oil. If you change all your bulbs to CFLs it could prove very expensive in the short term and save less energy than you might imagine if your home is properly insulated or you live in a cold climate. If you live in a warm climate, then changing to CFLs will reduce your carbon footprint and the cost of your electricity bills, but the savings will be less than you might expect if the daylight hours are long and the nights are short.

CFLs are themselves under threat from the latest generation of light emitting diodes (LEDs). The LED has been in existence since the 1920s but they have only recently been made bright enough for room lighting. The most common applications to date have been traffic lights, solar garden lights and car brake lights; infrared LEDs are used in television remote controls. LEDs are electronic components that emit photons of light when the current is switched on. Lights for the home are made by clustering several LEDs into a single bulb.

Though more expensive than CFLs, LEDs last up to six times longer and are twice as efficient, producing the same amount of light from half the electrical power (half the carbon emissions). Other advantages of LED lighting include: an ‘instant on’, meaning that there is no warm-up time; no problems with frequent on/off switching, which shortens the life of fluorescent lights; no glass to break because the LED is made from a hard transparent plastic; and they are free from toxic mercury.


Questions 41 to 47


Do the following statements agree with the information given in Reading Passage 1?

Write:

TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this.


41Incandescent bulbs convert more energy to heat than light.

42Ultraviolet light (UV) can be seen with the naked eye.

43Compact fluorescent lamps (CFLs) last about 10 years.

44Fluorescent tubes are the best lights for workplaces.

45Incandescent bulbs contain mercury.

46Fluorescent light can cause headaches and migraines.

47Traditional bulbs may waste less energy than they appear to.



Questions 48 to 53


Complete the summary below.

Choose NO MORE THAN TWO WORDS from the passage for each answer.


Switching to CFLs may not be such a bright idea


Whilst it is true that compact fluorescent lamps (CFLs) have a smaller 48 ..................... than incandescent lighting, bulbs help to 49 ........................ the house, reducing the amount of gas or oil burnt. Consequently, the savings are less than expected in well 50 ........................... houses and in 51 ........................... regions. Fluorescent bulbs contain 52 ..........................., which is hazardous to health. The new light emitting diode (LED) bulbs carry no such risk and though expensive, they are more 53 ................................. than CFLs.


Reading Passage 2


Taking soundings


A Until recently it was thought that dolphins, porpoises and bats were the only mammals to use echolocation to locate prey and to navigate their environment. New research suggests that ‘great whales’, like the blue whale and the humpback whale, might be able to ‘see’ in a similar way. Underwater sound recordings of humpback whales have captured sonar clicks similar to those made by dolphins.

B The ability of ‘great whales’ to use sound to communicate has been known for decades. In deep water, where light cannot penetrate, whales use sound like we use our eyes. Low frequency vocalizations, in the form of grunts and moans are inaudible to the human ear, but form a pattern or song that enables whales to recognize their own species. Blue whales are the loudest animals on earth and their sounds can travel for hundreds of kilometres. Highly sensitive hearing allows whales to avoid shipping and to orientate themselves to the land by listening to waves crashing on the shore. Whales might also use sound to detect the seabed or polar ice packs by listening to the echoes of their own whale song. Man-made ocean sound, or ‘noise pollution’, can drown out whale calls. Increasing amounts of background noise from motorized shipping and from oil and gas drilling is making it difficult for whales to communicate and navigate via sound.

C Echolocation, also called bisonar, is a different form of sensory perception. A dolphin, for example, sends out a series of short clicks and waits for an echo to be reflected back from the obstacle or prey. Both the size and distance of an object can be determined from the echo. The clicks, known as ultrasound, consist of high-pitch (frequency) sound waves, well above the range of the human ear, and distinct from the low-pitched whale song. Whilst there is evidence supporting the use of ultrasound by whales, it has not been shown that they can use echolocation. Instead, the clicks might serve to scare and control shoals of small fish on which some whales prey.

D A major concern of environmentalists is that high-power military sonar might disorientate or harm whales, and that it is responsible for the mass strandings seen on beaches. However, whales were beaching themselves before the invention of sonar and evidence from fossils indicates that stranding goes back thousands of years. Today though, stranding occurs more frequently in waters where navy training exercises take place. The impact of man-made sonar on the stranding of whales and dolphins can no longer be ignored. Following pressure from environmentalists, US law requires that the navy take steps to minimize the effects of sonar on mammals wherever possible. Most of these precautions are common sense and include avoiding whale migration routes when whales are present, not operating the sonar when dolphins are riding a bow wave, and checking to see if a stranding has taken place after sonar has been deployed.

E The phenomenon of stranding is not well understood but it can occur for entirely natural reasons. One explanation involves the ability of whales, like many animals, to use the earth’s magnetic field for direction finding. Ocean currents are thought to cause fluctuations in the earth’s magnetic field, which may leave whales vulnerable to navigation errors when they migrate to their breeding grounds. Other reasons for stranding include straying into shallow coastal water when following prey, or when attempting to escape predators such as killer whales. Sea currents, winds and storms are all known to play their part. When a single whale is found dead on a beach it might have died from natural causes out at sea and been washed up on shore. It is apparent that multiple deaths at sea cannot produce a ‘mass stranding’ on a single beach because the carcases would have washed up along different parts of the shoreline. In these circumstances there is concern that the multiple deaths may be man-made, linked to marine pollution, over-fishing, which deprives the whales of food, or entanglement with nets. However, a mass stranding of whales on a single beach, like those shown on television, can also arise naturally. Whales are social animals that swim in groups known as ‘pods’. Some scientists have speculated that if a sick or injured whale takes refuge in shallower water the rest of the pod might follow on to become trapped when the tide goes out.


Questions 54 to 58


Reading Passage 2 has five paragraphs A to E.

Which paragraph contains the following information?

Write A, B, C, D or E. You may use any letter more than once.


54an example of sound being used other than for navigation and location of prey

55examples of mammals other than whales and dolphins that use echolocation

56how man’s behaviour has increased the number of whales being stranded

57an example of whales living in a community

58why people cannot hear whale song.



Questions 59 to 62


Complete the summary below.

Choose NO MORE THAN TWO WORDS from the passage for each answer.


The harmful effects of high-power sonar on whales are a 59 .................................... . It is recognized that the navy pose a threat to whales during 60 ................................. when the number of beachings have been observed to increase. The impact of sonar on mammals can be lessened by taking a number of 61 ........................ steps. For example, it is clear that ships with sonar equipment should keep away from whale 62 .....................................


Questions 63 to 66


Complete the summary below.

Choose ONLY ONE WORD from the passage for each answer.


Several reasons, not linked with human activities, have been proposed to explain why whales beach themselves. Changes in the earth’s magnetic compass can lead to mistakes in 63 ................................................ . Alternatively, whales might stray into shallow water when pursued by 64 ................................................, or to chase prey, and then become trapped by the tide. Whilst one whale on a beach might have died naturally out at sea and been washed ashore, a group of whales 65 ...................................................... because their bodies would appear on different stretches of sand. ‘Mass stranding’ appears to be linked to the 66 ................................................ nature of whales and their tendency to swim into shallow water as a group.


Reading Passage 3


Oxbridge


Although more than 100 km separates the English cities of Oxford and Cambridge, their universities are linked by the term ‘Oxbridge’. It is a name that can be applied to either university or to both. Traditionally, a degree at Oxbridge symbolized the pinnacle of academic achievement. Cities like Birmingham, Liverpool, Bristol and Manchester had their own universities, but these were not as esteemed as Oxbridge and received the derogatory title of ‘Red brick’ universities. In recent times, the name Oxbridge has also become a derogatory term. Some people believe that Oxbridge is part of a social class system that favours the privileged few, born into wealth or high social status, at the expense of the less well-off, socially disadvantaged, though equally talented students. Whilst Oxford and Cambridge encourage applications from candidates living in deprived areas, only 1 in 100 of the poorest university students in England received an Oxbridge education in 2010, far lower than the percentage of poorer students at the ‘Red brick’ universities.

It cannot be disputed that a disproportionate number of Oxbridge entrants went to a fee-paying private school rather than to a free, state school. Nationally, only 1 in 15 pupils receive a private education, but nearly half of the students at Oxbridge went to a private school. Fee-paying schools have higher staff-to-pupil ratios, so their pupils receive more tuition and achieve higher grades than pupils from state sector schools. It is surely no surprise that pupils with an education paid for by their parents are about 20 times more likely to be offered a place at Oxbridge. There is no reason to believe that the best pupils in the state sector are any less intelligent than those in the private sector. Given the same educational opportunities and life circumstances, state sector pupils can achieve equally high grades. The failure of the best pupils to achieve their potential can often be linked to a difficult home life, lack of motivation or peer pressure from less academic pupils. The attainment gap between university applicants from fee-paying and state schools is maintained when Oxbridge graduates are rewarded with the best-paying jobs, affording them the opportunity to send their own children to the best schools.

Looked at from the perspective of life chances, Oxbridge helps to maintain the ‘social divide’ where the rich get richer and the poor remain poor. Some people would argue that this ‘Oxbridge advantage’ is a symptom of social stratification rather than a cause of it. After all, parents cannot be blamed for wanting the best education for their children and Oxbridge cannot be held responsible for the failure of state schools to achieve the necessary grades. There is no evidence to suggest that Oxbridge selects students on anything other than merit. Indeed, in some subjects the application process includes admissions and aptitude tests that help to ensure a level playing field. Perhaps then, the state sector needs to encourage and support more applications from their best pupils to the best universities. Alternatively, the low aspiration of some pupils’ parents may fail to drive gifted pupils onwards and upwards, or it may be that some pupils from an ordinary background are not comfortable with the idea of attending Oxbridge. Students who do not feel that they will ‘fit in’ at Oxbridge can still make the most of their talents by attending one of the country’s many other excellent universities.

Inequalities in our society do not begin and end with Oxbridge. The best state schools are usually found in the most affluent areas. Injustices can arise when parents move house to secure a child’s place at a more desirable school and in doing so they force another child into an under-performing school. Other, better-off parents, though not necessarily wealthy, will pay for their children to be educated at a private school to avoid having to move home. Either way, the desire to furnish one’s children with the best possible education outweighs any sense of social justice. Unless remedies can be found for the disparity in educational standards in the pre-university years, it is unrealistic to believe that Oxbridge contributes in any substantial way to a lack of social mobility. A place at Oxbridge should be seen as an opportunity for self-improvement and learning at the highest standards whatever one’s social background.


Questions 67 to 70


Choose the correct letter A, B, C or D for the questions based on Reading Passage 3.


67In the past Oxbridge has been seen as

Aan education only for those who can afford to pay for it.

Bthe best universities in the country.

Can opportunity for learning and self-improvement.

Da place that represents the highest educational standards.

68Everybody agrees that

Atoo many Oxbridge students have had a private education.

Bthere are higher staff to student ratios at Oxbridge.

Clife at Oxbridge is for those with money and social status.

DOxbridge applicants are rewarded with the best degrees.

69In the passage, there is an example of how Oxbridge

Aencourages applications from pupils living in deprived areas.

Bhas made the application process fairer.

Cselects students based on their exam results.

Dmaintains its advantage over other universities.

70In the passage, a link is made between a degree at Oxbridge and

Ainequalities in state schools.

Ba pupil’s aspiration.

Ca successful career.

Dunder-performing schools.



Questions 71 to 76


Do the following statements agree with the information given in Reading Passage 3?

Write:


TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this.


71The ‘Oxbridge advantage’ refers to better prospects in life.

72Some Oxbridge candidates are offered a place whether they deserve it or not.

73A student from an ordinary background is unlikely to do well at Oxbridge.

74A lack of applications from state schools is the only reason for the low number of state school students at Oxbridge.

75The author does not believe that Oxbridge is responsible for social inequalities.

76There are few good schools in the state sector.



Questions 77 to 80


Complete the following summary using the list of words, A to K, below.

The best schools tend to be found in the most 77 ............ areas. This leads to a lack of 78 ............ in the state school system. For example, some parents will move closer to a better-performing state school, or failing this, pay for their children to be educated 79 ............ . Children from poorer families can lose out, but the desire for one’s children to do well at school is more 80 ............ than any sense of social justice.
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	A deprived

	B valuable

	C quality

	D fairness

	E applicants

	F advantaged




	Gimportant

	Hprivately

	Iprosperous

	Jselectively

	Kpreferentially

	







[image: ]


Writing (1)


Writing task 1


You should spend about 20 minutes on this task.


[image: ]


The graph shows the percentage of four different types of fuels in use between the years 1800 and 2000.

Summarize the information by describing the main features of the graph and making comparisons where appropriate.
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Write at least 150 words.


Fuel usage 1800 to 2000
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Writing task 2


You should spend about 40 minutes on this task.


Write about the following topic.
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Some people believe that electronic calculators should not be allowed in school until after the pupils have mastered mental arithmetic. Others believe that calculators save pupils time, especially with complicated calculations.

Discuss both these views and give your own opinion.
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Give reasons for your answer and include any relevant examples from your own knowledge or experience.


Write at least 250 words.


Speaking (1)


Part 1 Familiar topics


Hobbies


•What do you do with your free time? [Why?]
I like to ............ (present tense) because

•Which activity do you enjoy most? [Why?]
Mostly I enjoy (present tense) ............

•How much time do you spend on it? [When?]
Usually I spend (present tense) ............

•What hobbies can your family do? [Who?]
My mother can (present tense) ............


Part 2 Brief talk


I want you to talk about a topic I’m going to give you. You have one minute to think about what you are going to say. You can make some notes to help you. Your talk should last between one and two minutes.
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Talk about the type of food you like


[What is your favourite food?] ............ [What don’t you like?] ............ [Is it traditional for your country?] ............ [What are the ingredients?] ............ [Are they healthy?] ............ [Who cooks your food?]


How do your meals compare with restaurant food?
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Part 3 Discussion


Convenience food


Do you think that people eat too much fast food and takeaways?

Do you eat fast food? [Why? When? How often?] Yes, I’m fond of ............

Do you like microwave meals? [Why?] Sometimes, when I’m in a hurry ............

What are the problems with eating fast food? [Why?] It can be unhealthy because ............

Would you say that you eat healthily? [Why?] Yes I would, but ............


Tip: If you make a mistake with your grammar (eg you use a present tense verb instead of past tense verb) and you know how to correct it then do so.







TEST 2


Listening (2)


Section 1


Questions 81 to 85

Complete the notes below.

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer.


[image: ]

Walking tour

Booked on: 81 ............................................................  Tour

Booked for:


•14.00 hrs

•Friday

•82 .......................................................................................


Debit card number: xxxx xxxx xxxx xxxx

Full name: Dave 83 ....................................................................................

Spaces reserved for 84 ........................................................................ people

Amount paid: 85 .......................................................................................
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Questions 86 to 90


Complete the form below.

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer.
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Revised booking


Booked on: Inspector Morse Tour

Booked for:


•13.45 hrs

•Saturday

•86 ......................................................................................
 

Additional charge: 87 ..................................................................................

Debit card number: 88 .................................................................................

Booking reference number: 89 ............ ............................................................  

Name of guide: 90 ......................................................................................
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Section 2

Questions 91 to 96

Choose the correct letter, A, B or C.

Field trip


91What proportion of students achieved a high mark in their assignments?
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92Accommodation is required for

A6 nights

B7 nights

C8 nights

93The ferry arrives at

A02.40 hrs

B06.00 hrs

C07.30 hrs

94Halfway to the ferry there will be a short stop

Afor food and drink

Bto use the toilets

Cboth A and B

95On leaving the vehicle deck, students should take

Afew personal items

Ball personal items

Cimportant personal items

96The village of Dundrum has a

ARoman fort

BNorman castle

CTower house




Questions 97 to 100


Complete the notes below.

Write ONE WORD ONLY for each answer.


TABLE 2.1





	
FIELD TRIP TIMETABLE





	
Day1



	
lunch followed by a walk by the

97 ........................................................................





	
Day 2


	
spend all day in the mountains

visit a reservoir

visit the town then go for a walk in a

98 ........................................................................





	
Day 3


	
travel to Portrush

visit the Giants Causeway

cross a bridge made from

99 ........................................................................





	
Day 4


	
day of rest

visit to a brewery in the afternoon





	
Day 5


	
travel to Londonderry

visit Glenelly valley





	
Day 6


	
travel to Ballycastle

see 100 ............................................... on the cliffs









Section 3


Questions 101 to 105


Complete the flow chart below.

Write ONE WORD/NUMBER ONLY for each answer.


Poster presentation
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Questions 106 to 110


Complete the table below.

Write NO MORE THAN TWO WORDS for each answer.


TABLE 2.2





	
Information/picture


	
Where from?


	
Where in the poster?





	
carbon offsetting

carbon cycle

carbon emissions

college logo


	
106 a ..................

107 .....................

government data

home page


	
middle box

108 with the ..............

109 .................. box

110 both .................








Section 4


Questions 111 to 116


Choose the correct letter, A, B or C.

History of diagrams



111According to the professor, ancient pictures of wild animals are

Afound in Europe only.

Bfound in Australia only.

Cfound in both Europe and Australia.

112According to the professor, Egyptian hieroglyphics are

Adifficult to understand.

Blanguage in pictures.

Cdecorative drawings.

113According to the professor, Pythagoras and Archimedes were both

Amathematicians.

Bscientists.

Castronomers.

114According to Wikipedia, a map is a diagram

Awith axes and co-ordinates.

Bof part of the earth’s surface.

Cthat links one place to another.

115According to the professor, modern diagrams

Aare charts or graphs only.

Bcontain more information than text.

Chelp to explain complicated data.

116According to the professor, Florence Nightingale used a chart

Asimilar to a pie chart.

Bidentical to a pie chart.

Cdifferent to a pie chart.



Questions 117 to 120


Complete the notes below.


Write NO MORE THAN ONE WORD for each answer.


Flow charts
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Reading (2)

Reading Passage 4


Rosetta Stone


In 1799, a famous discovery was made in the small town of Rashid (known as Rosette by the French), 65 km from the city of Alexandria in northern Egypt. Napoleon Bonaparte’s army were digging the foundations of a fort when they unearthed a large basalt slab, over 1.1 metres tall, 75 cm wide and 28 cm thick, weighing about 760 kg.

The ‘Pierre de Rosette’ (Rosetta Stone) dates back to 196 BC when the Macedonians ruled Egypt. The stone is of great historical value because it is carved with the same text written in two Ancient Egyptian scripts (hieroglyphics and Demotic) and in Greek. At the time of the discovery, Egyptian hieroglyphic writing could not be understood, and by comparing the symbols with the Greek text it was eventually deciphered. This allowed scholars to understand the meaning of Egyptian hieroglyphs dating back almost 4,000 years.

Napoleon was defeated by the British navy in the battle of the Nile in 1798 and he left Egypt two years later. The Rosetta Stone, together with other antiquities, was handed over to the British under the terms of the Treaty of Alexandria in 1801. It went on display in the British Museum and to this day remains one of the most popular exhibits. In 1802, Thomas Young, an English academic, translated some of the words in the Demotic section of the stone. Despite this early success, he made little headway with the hieroglyphic symbols, which proved baffling. The problem remained largely unsolved for a further 20 years until the French scholar, Jean-Francois Champollian, unlocked the code. He realized that the symbols used a combination of alphabet letters and phonetic sounds to convey the same meaning as the classical Greek writing. In 1828 he travelled to Egypt where he was able to read hieroglyphs off temple walls, obelisks and other ancient artefacts to establish, for the first time, the order of kings, when they ruled and how they lived. Champollian is acknowledged as the father of modern Egyptology.

The Rosetta Stone has revealed its secrets. The hieroglyphs were written on the stone by Egyptian priests to proclaim the greatness of their Pharaohs, in this case, 13-year-old King Ptolemy V, the fifth ruler of the Ptolemaic dynasty, and son of Ptolemy IV. The stone was made on the first anniversary of the boy king’s coronation in 197 BC and takes the form of a decree. It affirms the rightful place of Ptolemy V as the King of Egypt and instructs the priests to worship him and erect temples. The Demotic language was used in daily life in Egypt, and the classical Greek by the ruling Ptolemies, so it made sense to have these languages on the stone as well as the hieroglyphs so that the decree could be understood by everyone. The stone is not unique in that similar stones would have been placed at other Egyptian temples.

In recent times, Egypt’s head of antiquities, Dr Zahi Hawass, has lobbied for the return of the Rosetta Stone to Egypt, along with other prized antiquities like the ‘Elgin Marbles’ and the bust of Queen Nefertiti. The repatriation of artefacts of cultural heritage is a controversial and emotive issue. The problem is in deciding between what was taken on a fair basis and what was stolen. However, in 2002, 30 of the world’s leading museums issued the joint declaration that ‘objects acquired in earlier times must be viewed in the light of different sensitivities and values reflective of that earlier era’. Whilst this statement may suit the many museums that wish to conserve historically important artefacts, some of the objects are held sacred by the peoples and nations from which they originate. In the case of the Rosetta Stone, the British Museum donated a life-size replica of the stone to the town of Rashid (Rosetta) in 2005 and a giant copy in France marks the birthplace of Jean-Francois Champollian. Though not authentic items, these copies provide an opportunity for study and learning. The British Museum will loan treasured artefacts to other museums around the world, though in doing so it runs the risk of not getting them back.

Today the term ‘Rosetta Stone’ has been adopted by a language-learning company and is more likely to be recognized in this context than as an important cultural artefact. The term is also used as a metaphor for anything that is vital to unlocking a difficult problem, for example, DNA has become the ‘Rosetta Stone of life and death, health and disease’, according to the Human Genome Project. Nevertheless, it is the science of Egyptology that carries on the legacy of the Rosetta Stone.


Questions 121 to 128


Do the following statements agree with the information given in Reading Passage 4?

Write:

TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this.


121The Rosetta Stone was unearthed in the city of Alexandria.

122There are three translations of the same passage on the Rosetta Stone.

123Egyptian scholars wrote the passages almost 4,000 years ago.

124Thomas Young translated the entire Demotic text.

125The hieroglyphs were more difficult to translate than the Demotic text.

126Demotic language used phonetic sounds.

127Jean-Francois Champollian is the founder of the science of Egyptology.

128The Rosetta Stone was the only stone of its type.



Questions 129 to 133


Complete each sentence with the correct ending, A to J, below.


129The head of Egypt’s antiquities believes

130The return of antiquities to their country of origin is a topic

131In 2002, 30 museums stated

132Where prized artefacts are concerned, there is a danger

133Rosetta Stone is a name


[image: ]





	A

	that all items of cultural heritage should be repatriated.





	B

	that the taking of antiquities cannot be judged by today’s standards.





	C

	that is associated more with language training than with antiquities.





	D

	that was used by the French army.





	E

	that the country’s treasured antiquities belong in Egypt.





	F

	that reflects the values of an earlier period.





	G

	that provokes debate and generates strong feelings.





	H

	that some of the objects are held sacred.





	I

	that borrowed items will not be conserved and protected.





	J

	that borrowed items will be kept and not returned.
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Reading Passage 5

Tickled pink


In 1973, the Australian fruit breeder John Cripps created a new variety of apple tree by crossing a red Australian Lady Williams variety with a pale-green American Golden Delicious. The offspring first fruited in 1979 and combined the best features of its parents in an apple that had an attractive pink hue on a yellow undertone. The new, improved apple was named the Cripps Pink after its inventor.

Today the Cripps Pink is one of the most popular varieties of apple and is grown extensively in Australia, New Zealand, Canada, France and in California and Washington in the USA. By switching from northern hemisphere fruit to southern hemisphere fruit the apple is available at its seasonal best all year round. The highest-quality apples are marketed worldwide under the trademark Pink Lady™. To preserve the premium price and appeal of the Pink Lady, apples that fail to meet the highest standards are sold under the name Cripps Pink™. These standards are based on colour and flavour, in particular, the extent of the pink coverage and the sugar/acid balance. Consumers who buy a Pink Lady apple are ensured a product that is of consistently high quality.

To earn the name Pink Lady the skin of a Cripps Pink apple must be at least 40% pink. Strong sunlight increases the pink coloration and it may be necessary to remove the uppermost leaves of a tree to let the light through. The extra work required to cultivate Cripps Pink trees is offset by its advantages, which include: vigorous trees; fruit that has tolerance to sunburn; a thin skin that does not crack; flesh that is resistant to browning after being cut and exposed to air; a cold-storage life of up to six months and a retail shelf-life of about four weeks. However, the main advantage for apple growers is the premium price that the Pink Lady brand is able to command.

The Cripps Red variety, also known as Cripps II, is related to the Pink Lady and was developed at the same time. The premium grade is marketed as the Sundowner™. Unlike the genuinely pink Pink Lady, the Sundowner™ is a classic bicoloured apple, with a skin that is 45% red from Lady Williams and 55% green from Golden Delicious. Apples that fall outside of this colour ratio are rejected at the packing station and used for juice, whilst the smaller apples are retained for the home market. The Sundowner is harvested after Cripps Pink in late May or early June, and a few weeks before Lady Williams. It has better cold-storage properties than Cripps Pink and it retains an excellent shelf life. Cripps Red apples have a coarser texture than Cripps Pink, are less sweet and have a stronger flavour. Both apples are sweeter than Lady Williams but neither is as sweet as Golden Delicious.

The advantage of the Pink Lady™ brand is that it is a trademark of a premium product, not just a Cripps Pink apple. This means that new and improved strains of the Cripps Pink can use the Pink Lady brand name as long as they meet the minimum quality requirement of being 40% pink. Three such strains are the Rosy Glow, The Ruby Pink and the Lady in Red. The Rosy Glow apple was discovered in an orchard of Cripps Pink trees that had been planted in South Australia in 1996. One limb of a Cripps Pink tree had red-coloured apples while the rest of the limbs bore mostly green fruit. A bud was taken from the mutated branch and grafted onto rootstock to produce the new variety. The fruit from the new Rosy Glow tree was the same colour over the entire tree and a patent for this unique apple was granted in 2003. The Rosy Glow apple benefits from a larger area of pink than the Pink Lady and it ripens earlier in the season in climates that have less hours of sunshine. As a consequence, the Cripps Pink is likely to be phased out in favour of the Rosy Glow, with the apples branded as Pink Lady™ if they have 40% or more pink coverage.

Ruby Pink and Lady in Red are two mutations of the Cripps Pink that were discovered in New Zealand. Like the Rosy Glow, these improved varieties develop a larger area of pink than the Cripps Pink, which allows more apples to meet the quality requirements of the Pink Lady™ brand. Planting of these trees may need to be controlled otherwise the supply of Pink Lady apples will exceed the demand, to then threaten the price premium. Overproduction apart, the future of what has become possibly the world’s best-known modern apple and fruit brand, looks secure.


Questions 134 to 139

Do the following statements agree with the information given in Reading Passage 5?

Write:

TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this.


134Pink Lady apples are the highest grade of Cripps Pink apples.

135One advantage of Cripps Pink trees is that they grow well.

136Cripps Pink trees produce an abundance of fruit.

137Pink Lady apples are less expensive to buy than Cripps Pink apples.

138Colour is an important factor in the selection of both of the premium grades of Cripps apples referred to.

139Lady Williams apples are sweeter than Golden Delicious.


Questions 140 to 144


Complete the summary below.

Choose NO MORE THAN TWO WORDS from the passage for each answer.

New and improved strains

A bud taken from a mutated branch on a Cripps Pink tree was grafted onto rootstock to produce the new apple variety named 140 ............ . A feature of this improved apple is that it 141 ............ sooner than the Pink Lady with less sun. Another mutated strain is the 142 ............ tree from New Zealand. The chief advantage of new and improved strains is that the apples develop more 143 ............ so more can use the name 144 ............ .


Questions 145 to 147


Identify the following apples as being:


APink Lady

BSundowner

CLady in Red

DLady Williams


145The trademark of the highest-quality Cripps Red apple.


146Not as sweet as either Cripps Red or Cripps Pink apples.

147A mutation of a Cripps Pink tree.


Reading Passage 6


Bubbly and burgers


When is Champagne not Champagne? The answer is when it is sparkling wine produced outside the Champagne region of France. Unfair trading is a breach of civil law that covers unfair practices towards consumers. Customers are misled into believing that they are buying goods or services associated with a well-known, more established business, through the use of confusingly similar trademarks or trade names. In the UK, unfair trading is known as ‘passing off’ and in the USA as ‘palming off’. The protection of a trading name is essential for an established business because associations with a lesser firm can damage a company’s reputation. Nevertheless, some businesses still try to bolster trade by incorporating descriptive elements or imagery from better known, more attractive brands, into their own signs and logos.

The Champagne growers of France have successfully defended the Champagne brand against any sparkling wine produced outside the Champagne region. So, for example, you will not find any Spanish Champagne on the shelves, only Cava. Other sparkling wines barred from describing themselves as Champagne include: Asti (Italy); Espumante (Portugal); Sekt (Germany); and Shiraz (Australia). Sparkling French wines made outside of the Champagne region are termed Crenmant and Mousseaux. All these ‘copycat’ sparkling wines are made by the traditional Champagne method, in which case they are permitted to state Methode Traditionelle on the label. In the traditional method, the fizz is obtained via a secondary fermentation process inside a sealed bottle. In a budget sparkling wine, the fizz is generated artificially by injecting high-pressure carbon-dioxide gas into still wine prior to bottling, as per carbonated drinks. Carbonated wines release large bubbles to develop foam that rises and subsides quickly, whereas Champagne releases uniquely fine bubbles that rise slowly to create long-lasting foam.

The defence of the Champagne name has not been entirely successful. Elderflower ‘Champagne’ is a favourite non-alcoholic summer drink in the UK. It self-ferments to produce Champagne-like foam when the bottle is opened. In 1993, the Thorncroft Vineyards in Surrey, England, successfully defended a passing-off lawsuit when the judge deemed that the risk of damage to the reputation of genuine Champagne was negligible, even though Thorncroft had presented the drink in a champagne-style bottle with a wired cork. Despite this initial ruling, the decision was overturned in an appeal case a few months later. The judges felt that consumers might believe that the drink was a non-alcoholic version of Champagne, and that to maintain its exclusiveness, only authentic Champagne could describe itself as Champagne. Other drinks manufacturers have found it necessary to protect their brand’s identities by invoking the passing-off law. Sherry and Port are names that are restricted to fortified wines that emanate from Jerez in Spain, and the Douro Valley in Portugal, respectively. Warninks Advocaat is a traditional egg and brandy liqueur made in Holland since 1616, which Keeling’s Old English Advocaat failed to usurp in 1979. In 2010, Diageo Smirnoff Vodka prevented Intercontinental Brands from selling a cheaper vodka-containing drink named Vodkat, primarily because it did not contain the necessary 37.5% alcohol to be classed as vodka.

A passing-off claim is likely to succeed in circumstances where the consumer might be deceived into purchasing a product that is similar to that of a claimant who has a strong brand identity and a reputation to protect, that is to say, there is a risk of damage to the claimant’s ‘goodwill’. A passing-off claim is less likely to succeed when the defendant is innocently using his or her own name, or the claimant’s product and labelling are not distinct enough to distinguish it as only belonging to them. Norman McDonald ran a small restaurant named McDonald’s Hamburgers Country drive-in. He fell foul of the McDonald’s restaurant chain by including two lit golden arches in his sign. He was forced to remove the arches and add Norman in front of McDonald’s on the sign, so as not to misrepresent the business as a McDonald’s franchise.

McDonald’s has taken legal action against several businesses that refused to drop Mc from their trading name, including those with very similar names, such as MacDonald’s and Mcdonald. McDonald’s have not always won their legal cases. However, they were more likely to succeed if the defendants had a clear association with a food service that could be confused with McDonald’s. So a fast-food outlet in the Philippines named MacJoy was forced to change its name and became MyJoy; Elizabeth McCaughey had to alter the name of her coffee shop from McCoffee, which was a play on her name; and a Scottish sandwich-shop owner was restrained from using the name McMunchies; but McChina Wok Away was permitted because it was ruled that McChina would not cause any confusion amongst customers. It was also indicated that McDonald’s did not have exclusive rights to the prefix Mc. This was confirmed when McDonalds lost its case against McCurry despite an earlier ruling that the prefix Mc, combined with colours distinctive of the McDonald’s brand, might confuse and deceive customers. The business had claimed that McCurry stood for Malaysian Chicken Curry.


Questions 148 to 151


Choose the correct letter A, B, C or D for the questions based on Reading Passage 6.



148The passage ‘Bubbly and burgers’ is mainly concerned with

AChampagne and McDonald’s.

B‘copycat’ food and drink.

Cthe impact of ‘passing off’ on trade.

Dthe meaning of ‘passing off’.

149In the passage, the author states that sparkling wine

Ais not Champagne unless it originates from the Champagne region.

Bis often passed off as authentic Champagne.

Cis not allowed to state Methode Traditionelle on the label.

Dis carbonated by injecting it with carbon-dioxide gas.

150In the passage, the author states that Elderflower ‘Champagne’

Ais a non-alcoholic Champagne.

Bis similar to Champagne in the foam it produces.

Cis a popular low-alcohol summer drink.

Dis a favourite carbonated fruit drink.

151The passage indicates that Norman McDonald

Afalsely represented his business as a McDonald’s franchise.

Binnocently used his own surname to increase trade.

Cwas forced to remove the name McDonald’s from the sign.

Dused two lit arches indistinguishable from the McDonald’s logo.



Questions 152 to 155


Do the following statements agree with the information given in Reading Passage 6?

Write:

TRUE if the statement agrees with the information

FALSE if the statement contradicts the information

NOT GIVEN if there is no information on this.


152Passing off and palming off are different breaches of civil law.

153Champagne production involves two fermentation processes.

154Inexpensive sparkling wines are carbonated naturally inside the bottle.

155Elderflower ‘Champagne’ is a popular summer drink in several EU countries.


Questions 156 to 160


Complete the sentences below.

Choose NO MORE THAN THREE WORDS from the passage for each answer.


156In 1993, Thorncroft won a lawsuit because it was deemed that Champagne’s reputation was at ............................................................ of being damaged.

157Vodkat was banned mainly because it contained insufficient .................................... .

158McDonald’s, Macdonald and Mcdonald are ................................................ .

159McDonald’s were more likely to win their cases if the defendants had obvious links with ............................................................ similar to McDonald’s.

160A ruling indicated that the rights to use the prefix Mc were ............................. to McDonald’s.


Writing (2)


Writing task 1


You should spend about 20 minutes on this task.
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The pie charts below show the percentage of housing owned and rented in the UK in 1985 and 2005.

Summarize the information by describing the main features of the charts and making comparisons where appropriate.
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Write at least 150 words.

Housing owned and rented in the UK
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Writing Task 2


You should spend about 40 minutes on this task.


[image: ]

Some people believe that unemployed people should be made to work for their welfare/benefit payments. Others, however, see this as cheap labour.

Discuss the possible advantages and disadvantages of making unemployed people take any job.

Do you believe that making unemployed people work is a good idea?

[image: ]


Give reasons for your answer and include any relevant experience or knowledge.

Write at least 250 words.


Speaking (2)


Part 1 Familiar topics


Travelling to work


•How do you get to work/college?
I usually travel (present tense) by ............

•Do you enjoy the journey? [Why?/Why not?]
No I don’t (present tense) because ............

•Have you ever been late for work/college? [Why?]
Yes I have been. I was (past tense) last month when the train was delayed (past tense).

•What happened when you arrived? [Why?]
My boss was (unhappy) because ............


Part 2 Brief talk


I want you to talk about a topic I’m going to give you. You have one minute to think about what you are going to say. You can make some notes to help you. Your talk should last between one and two minutes.


[image: ]

Talk about the place where you live.

[What is it called?] [Where is it?] [How big is it?]

[Who lives there?] [Are they friendly?]

[Shops] [Services] [Transport]

How does it compare with other places you have lived?

[image: ]


Part 3 Discussion


Choosing where to live


Some people prefer to live in a big city and others prefer to live in a small town.

Which do you prefer?

What are the benefits of living there? [Why?]

What are the disadvantages of living there? [Why?]

Do you think that the standard of living is higher in a big city? [Why?]


Tip: for a higher mark, try to speak at a normal speed without hesitating to find the right word or grammar.








End of sample




    To search for additional titles please go to 

    
    http://search.overdrive.com.   
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